fa 5. # ] | ==
1. ¢ B H&
i 5. %
WRTY | $TH4
X T B W iRk (FH) (FH) | Mk T | @ Ty | WETY | BRTY E HEH & @ ik
O G|
TR | IEEE
(N) (FH) () (H%5y) (H5y) (FH) (FH) (FH) (FH) (FH) (FH) (FH)
B 0 0
ZN
o R 0 0
DD
e | B 19 304 304 304
7 19 304 0 0 0 0 0 0 0 304 0 304
B 0 0
A7
- = 0 0
DD
e | 5 Bk 20 320 320 320
7 20 320 0 0 0 0 0 0 0 320 0 320
=S o 0 0 0 0 0 0 0 0 0 0 0 0
|z =] 0 0 0 0 0 0 0 0 0 0 0 0
2 | E DD
3% e 7 T Al A 16 0 0 0 0 0 0 0 A 16 0 A 16
7 Al A 16 0 0 0 0 0 0 0 A 16 0 A 16

204




2. Mgk
(D 15

205

o | MR - 7 a o B & W
7 WM w R WE T L% E i
N (T1) (T1) (T1) (F1) (T (T
K AE JE <1£ 20,003 58,905 43,161 122,069 23,720 145,789
[E TS SO S <1£ 18,638 59,141 42,687 120,466 25,662 146,128
= i (0(; 1,365 A 236 474 1,603 A 1,942 A 339
MO ) NI, AR I B R O B ()
s gy | BT | prae |V e | ke | s |wmm | B | Emmr| JEROE | e | a | IR0,
i () G )Y MG NG ) A G ) NG e DY B D) N 5 e D G ) IO 1)) I ) M ) I G )
i AAFJE 3,629 1,074 5,253 1,923 16,339 12,573 0 1,078 492 0 0 800 0
.
s
ng) R4 3,641 1,080 6,757 2,208 15,917 10,634 0 1,186 444 0 0 820 0
)
S A 12 A6l A 1,504 A\ 285 422 1,939 0 A 108 48 0 0 A 20 0




7 REHEEAR BSOS

W | MR # 7 a o B & .
7 W e sk B T Y% B i
ON) (FH) (FH) (FH) (FH) (FH) (FH)
AR A E (10? 0 52,839 36,438 89,277 18,261 107,538
Al 4B (10? 0 53,310 38,317 91,627 19,601 111,228
54 1% (0(; 0 A 471 A 1,879 A 2,350 A 1,340 A 3,690
()AL, SRR E IR B OB (4 EX)
s gy | T | prae |V e | gk | s |wmm | B | Emmr| JENOE | e | a | IR0,
it (M) (M) (1) (M) (1) (GaED) (M) (M) (M) (M) (M) (M) (M)
i AR 3,265 1,074 5,253 1,923 12,270 10,310 0 1,051 492 0 0 800 0
i
s
g\j’ TR 3,291 1,080 6,757 2,208 11,922 10,634 0 1,161 444 0 0 820 0
BN
bk A 26 A6l A 1,504 A 285 348 A 324 0 A 110 48 0 0 A 20 0

206




A REHFEEEE

W | MR - 7 a o B & i -
7 W ke sk B FY%E 5 i
ON) (FH) (FH) (FH) (FH) (FH) (FH)
A A E (92> 20,003 6,066 6,723 32,792 5,459 38,251
B 4 (92) 18,638 5,831 4,370 28,839 6,061 34,900
e i (0(; 1,365 235 2,353 3,953 A 602 3,351
()L, SRR EEIR B OB (4 EX)
s gy | T | prae |V e | gk | s |wmm | B | Emamr| JEOOE | e | a | IR0,
ik (M) (M) (1) (M) (1) (GaED) (M) (M) (M) (M) (M) (M) (M)
%E—; AR JE 364 0 0 0 4,069 2,263 0 27 0 0 0 0 0
i
s
g\j) R4 350 0 0 0 3,995 0 0 25 0 0 0 0 0
BN
[ 3 14 0 0 0 74 2,263 0 2 0 0 0 0 0

207




(2) Ak M OV B T 24 55 OB O B

B AR

HE ek =25 R Bl AR

X 4y 3 H s
X (F) T  * ] " i
fa Bt A\ 236| FHABITFED 336| FHRAGEE (H%E) 7,006 SEXEAAR 2.50 %
sy 7,006 X3H X 16 A
Z D OHERSY A 72| BRE O NFREYEIZLD Tk B 2 BLap R
ARk 53E] LIRSS 4
ARAFEE 18 A 9 A 27 N
A4 18 A 9 A 27 N
B Pk 0 A 0 A 0 A
B H (N
BIES T 0 A
T8 Y% 474 ) FE SOEIZRED 2,263 | = EHF AT TR B ~D )i
PP Sy F Y TN LD
FOMOENFS | A 1,789 BB D N\ FHAE)EI2LS
HERk

208




(3) ek Je OV B F= 4 S DRI
7. BB 1IANYTRE G

X %) — MR AT Br W& B owe U7 B %
TR R A (M) 262,657 —
64 18 1A BUE ¥ ke 5 OA B (F9) 317,499 —
S R (%) 33 -
TR ORE A B (M) 259,740 —
0 5% 18 1A BUE V¥ ok 5 OA B (F9) 301,951 —
S R (%) 32 -
.8 = &
A 55 (1] ol R
X N
— ok AT BBk (M) ([H s 97 B B (H)|— i AT B B (B3 s 95 B B (M)
s % 'S 176,100 — 166,600 —
K o e 202,400 — 196,200 —

209



vtk pll BB

% N % — & 11 &% % B 5B %
7 ’ T SON) % (%) TSN "% T (%)
T % ( ) ( ) ( ) ( )
2 % ( ) ( ) ( ) ( )
3 % ( ) ( ) ( ) ( )
1% ( ) ( ) ( ) ( )
AF1 64 1A 1 HBIE ( ( 1) ( 8.3 ) ( ) ( )
"= ( 3) ( 20 ) ( ) ( )
- ( 2) ( o ) ( ) ( )
7 ik 6 50.0
5 % ( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
. 12 100.0
% ( ) ( ) ( ) ( )
. ( ) ( ) ( ) ( )
3 % ( ) ( ) ( ) ( )
1% ( ) ( ) ( ) ( )
- = ( 3) ( — ) ( ) ( )
- ( 1) ( - ) ( ) ( )
- ( 4> ( — ) ( ) ( )
8 3 25.0
o1 ( ) ( ) ( ) ( )
. 12 100.0
% () NIL. ARG Bk B Ok B (O )
GRR A D FEUE L 72 BTk 5)
X 7y T W% 5 W 3 W R 5 W 6 W T W 8 k&
SFCEIAIREE| B E-25 | WEME | #E-2 % |BEME 2% B&-BE |FEsREE #= A w8

210




. A7 fa
ES 57 =N g — % AT Br i e o % %k
Ik = (A (N) 12 12
A T fR B B % B (N 12 12
%N 1 5 % (N
. 2 5 (N
5 ok & M N 3 3 5 (N 2 2
BE 4 5 #  (N) 9 9
5EALLE () 1 1
ke =S (B)/(A) (%) 100.0 100.0
Ik = BoA) (W) 12 12
A T fR B B % B (N 10 10
il 1 5 &% (A
. 2 5 & (N)
5 ok & M N 3 35 /(N 1 1
BE 4 5 #  (N) 9 9
5L E (N)
L P (B)/(A) (%) 83.3 83.3
A B R #fhF Y
% N X ok M OB X R = KAREE kil B D ERRE kg5 D
6H (H%) 12H (A%)) (H43) A X DN R E
(1.175 ) (1.175 ) ( 2.350 )
A b 2.250 2.250 4.50 A
i i ( 1.150 ) ( 1.150 ) ( 2.300 ) 4
2.200 2.200 4.40
(1.175 ) (1.175 ) ( 2.350 )
S 2.250 2.250 4.50 A
¥ () NITHERABE O =

211




B . AR K OGS EE R BRI AR DB T (BF64E1LH 1 H BfE)
< N 204F e D& 25 ENDE S5 ENRCDE % = FR Ot >
7 (A4 (A4 (A4 (A% T
E R TR 24.586875 33.27075 47.709 47.709  TERRRIE DR S5 12 U s B a4 N o
B e -
2 i _ _ _ _ AERR I DAL RS |2 U7 A A I
ISR IE B Al Ak Al Bl b e i SR (A (2% ~209% D)
S G 52 A TERRRE O BN 1 U7 R AR 2
D O (iR 24.586875 33.27075 47.709 47.709 R AR A LRI P B (39 ~ 45 % 1)
XM B F Y4 (SFR6ELH 1B BIE)
53 A R (%) 6
X oR o % B OB (N) 16
E o E RIS H=R (%) 6
. EE T Y (GMmeELA LB BE)
X 3 2k — M AT Br B HORE ¥ % WK
BB R o o T 5 e FE (%) 0.00 0.00 -
xX kK Ok % B OB o o E (%) 0.00 0.00 -
R £ 80 72 8 % % % F Y 0 4 W
F.EOM O F Y (SF6H1H1HBITE)
X 53 [E] D il & 0> Fi [7] = B o BN R
7S 7 == S 1E r —
{524y FED1/2 (IR A%H28,000 HEH48)
Eor F ou om 72 5 |V F
(ENIF EIT I B PSR 72 /648, EBRIZ28,000M)
1A ) == ST 78 % ARG (E SR TR EE H %8 55,000 F9)

212




